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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

\…ˆ„GÁ_ ( Geography ) 
 (◊•Tˆ›Ã^ Yy f \…ˆ◊]Ã[˝÷Y GPˆXEıÁÃ[˝› Y“◊y‘Ã^Á) 
(2nd Paper : Landform Processes) 

a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 
1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 
 (Eı) %Á[˝c˜◊[˝EıÁÃ[˝ C Y«◊tTˆ l˘„Ã^Ã[˝ ]„W˝Ó YÁUÔEıÓ ◊XSÔÃ^ 

EıÃ[˝”X* Y«◊á˚Tˆ l˘Ã^ ◊Eı ◊Eı Y“◊y‘Ã^ÁÃ^˝ EıÁ^ÔEıÃ[˝› c˜Ã^ ? 
 (F) \…ˆ-◊[˝p˚ÁX› Qˆ[˝¿« ÂY·¯-AÃ[˝ W˝ÁÃ[˝SÁÃ[˝ Y◊Ã[˝‰Y“◊l˘„Tˆ 

l˘Ã^ªJÙ„y‘Ã[˝ Y“◊y‘Ã^Á [˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O ]Tˆ %X«^ÁÃ^› 
c˜ÓÁ„∑QˆXc˜Áe C Ê∫RÙO_\ˆÁâÀ¯ EıÁ„Eı [˝„_ ? 

 (G) L_ªJÙ„y‘Ã[˝ È[˝◊`rÙÓ [˝ÓÁFÓÁ EıÃ[˝”X* ]c˜›„aÁYÁX C 
]c˜›ªRÙÁ„_Ã[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? 

 (H) YÁ[˝ÔTˆÓ Y“[˝Á„c˜ XV›Ã[˝ EıÁ„^ÔÃ[˝ G◊TˆY“E ı◊Tˆ ◊Eı\ˆÁ„[˝  
◊XÃ^◊‹óˆTˆ c˜Ã^ ? Ac˜O Y“[˝Ác˜ Y„U XV›Ã[˝ l˘Ã^EıÁ„^ÔÃ[˝ Zı„_ 
a rÙ ◊[˝◊\ˆ~ \…̂ ◊]Ã[˝÷„YÃ[˝ ◊[˝[ Ã̋[˝S ◊VX* 

◊[˝\ˆÁG - F 
2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 
 (Eı) \…ˆ◊]Ã[˝÷Y ◊[˝[˝Tˆ¤„X %ªJÙy‘›Ã^ ]Tˆ[˝Á„VÃ[˝ ]…_ [˝N˛[˝Ó ◊Eı ? 
 (F) ◊c˜][˝Ác˜ %W «̋Ó◊bTˆ %á˚„_ M«ı_‹ô̂  =YTˆÓEıÁ ◊Eı\ˆÁ„[˝ 

G◊PˆTˆ c˜Ã^ ? 
 (G) XV› Â]Ác˜XÁÃ^ [˝-•›Y GPˆ„XÃ[˝ ]…_ EıÁÃ[˝Sm◊_ ◊Eı ◊Eı ? 
 (H) [˝ÁÃ^«Ã[˝ EıÁ„^ÔÃ[˝ •ÁÃ[˝Á ]Ã[˝” %á˚„_ [˝ÁFÔÁX ◊Eı\ˆÁ„[˝ a rÙ 

c Ã̃^ ? 
 (I¯) a]«V– TˆÃ[˝„ÜÃ[˝ Y“\ˆÁ„[˝ =YE…ı_ %á˚„_ ^Á◊‹óˆEı 

l˘Ã^›\ˆ[˝S ◊Eı\ˆÁ„[˝ aïˆ[˝ c˜Ã^ ? 
 (ªJÙ) %ÁªªRÙO_Á◊≥RÙOEı ]c˜ÁaÁG„Ã[˝Ã[˝ ]W˝Ó[˝Tˆfi Y“W˝ÁX È`_◊`Ã[˝ÁÃ[˝ 

Y“E ı◊Tˆ ◊EıÃ[˝÷Y ? 
◊[˝\ˆÁG - G 

3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 
 (Eı) ◊`_ÁÃ[˝ F◊â¯EıÃ[˝S Y“◊y‘Ã^Á ◊Eı ? 
 (F) ÂaÁ◊_Z¿ıÁjÁX EıÁ„Eı [˝„_ ? 
 (G) G◊Tˆ`›_ \ˆÁÃ[˝aÁ]Ó Tˆ√º¯ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
 (H) L_Y“YÁTˆ C FÃ[˝‰ÿÉˆÁ„TˆÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? 
 (I¯) \…ˆ◊] G–Á[˝„Ã[˝FÁ EıÁ„Eı [˝„_ ? 
 (ªJÙ) %‹ôˆ[˝ÔÁ◊c˜X› XV› EıÁ„Eı [˝„_ ? 
 (ªK˜) ÈaEıTˆ ◊`_Á ◊Eı ? 
 (L) ÊªRÙO_Áa [˝Á ªRÙOÓÁ_Áa ªRÙÁ_ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
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Group – A 

1. Answer any two questions : 10 × 2 = 20 

 a) Distinguish between weathering and mass 

wasting. Discuss the different processes of 

mass wasting. 

 b) Discuss the landscape evolution process as 

assessed by W. Penck. What are 

Haldenhung and Steilwand according to 

this concept ? 

 c) Examine the characteristics of hydrological 

cycle. What is the difference between 

continental shelf and continental slope ?  

 d) How are the fluvial processes of river 

controlled in the mountain course ? 

Describe the landforms produced in this 

course by fluvial erosion. 

Group – B 

2. Answer any three questions : 6 × 3 = 18 

 a) What is the core concept of non-cyclic 

theory  in landscape evolution ? 

 b) How is Hanging valley developed in the 

glaciated region ? 

 c) What are the main causes of delta 

formation in the mouth of a river ? 

 d) How is Barkhan developed by wind erosion 

in arid environment ? 

 e) How does hydraulic erosion take place by 

sea water in coastal region ? 

 f) Describe the form of the main submarine 

ridge in the Atlantic Ocean. 

Group – C 

3. Answer any four of the following : 3 × 4 = 12 

 a) What is block disintegration of rock ? 

 b) What is solifluction ? 

 c) What do you mean by Dynamic equilibrium 

theory ? 

 d) What is the difference between waterfalls 

and rapids ? 

 e) What is ground moraine ? 

 f) What is subterranean river ? 

 g) What is coastal cliff ? 

 h) What do you mean by talus slope ? 

    


